T2 193} 2ol AABC 9
WAL ADEF 2] & H Y
o] Zr& o], LABC 9] A7]

=7

D 30° ® 35° B 40° @ 45° B 50°



2.

the Lol A LTPB = ( yeol 2
71=? (&, /BTD = 60° o] H T =
Aot

D 21 ® 23 B 25




o2 OHA A AT = ¥ 0 9 F4ola DC + A
/ABC 9] 2719

il

d o,

@) 49° @) 44° 3) 46° @ 48° 3 50°



o3 293} Zo] A4 TE + F ¢9] FAdolat & o, /ACT = 26°,
/DBT = 66° ©|t}. 2/x + 32y & A7]=2

@D 200° ® 210° B 212° @ 215° B 220°



Tor °° &

n/.
ol & o JJ
o 5! H <
iy o %0

D249
@ 59




®a=1,b=3

@ a=4,b=2

He | =
5 2
6 a
7 2
8 b
11 2
A 10
@ a=2b=2
® a=5b=1




9]
o] 7T7RY w, xy 9] G227

—~
&o
~ (e
MPIQ R | AN
= o
0 B [E_[E_[=
jevll [en ) fan ) fan ) Faw)
~|© [P~ |0 OO
X0 —|_
AR RARNE 5
[
mﬂo o [0 [0 [x°
fo_ [o_ [o_ [o_ [o_
[e=j (e} [evl fanl) Fan)
10 [© |~ |00 O

? 12 B 24 @ 36 B) 48

@D 10



o, L
Ml do
o rlo
]
e

A= (m) =4(9)
20°"% ~ 30" 5
307 ~ 407 8
407 ~ 50" 6

4
2

5001”%} N 60“]"&
60°% ~ 70"

@D 38m ® 39m 3 40m @ 41m B 429m



9. 379 W& a,b,c Fto] 7, BAato] 8 ufj, HTF 54, 5b, 5 2] Hat-
m, £ poltt, o] W, n —m 9] Fh2?

D 115 @ 135 ® 165 @ 185 ® 200



10. 3709 W& x,y, 29 W x,y,22] Batol 8, BEHAF 5L of, AT
2x,2y, 2z 0] Batol m, BEFBA7} nol2t St o] W, m+n o] FH2?

D 22 ® 24 A 26 @ 928 B 30



0] 4, BAto] 5w W 3y — 5,3x —

R

L X

HEF X1, X2,

11.

ot o] W, m+n o] GF2?

3x,-59

® 51 ® 52 @ 53 B 54

@D 50



® 4, 2

@ 3, 2

2 1
1, = 2, =
@ 9 ® 9

1
1, =
® 9



